
الثانوى الأول ) ٨(رقماختبارالصف
ô†b ÈÛa@kÛbİÛa óÜÇë@µÔöbÐÛbi@™b©a@Þaû3Ûa ¶g òÏbš⁄ bi@ÁÔÏ@òÜ÷-c@òqýq@óÜÇ@kî°@æc @Õö bÐÛa@kÛbİÛa@óÜÇ

@ómdí@b ¿@ÁÔ Ï@òÜ÷-c@òÈiŠc åÇ@kî°@æc@Z

@Þëþa@Þaû3ÛaZ )  (!"#$%&' !"( )** +,", -&' +()./' 012':
  -P(93" !"?K'g- B9?A: !/O S9:%# =:4" 5NAK......)...273h–32h–273h32 (
E -(/?6%#(F"'=* >9g4 5N3#(C R$ZK"3:%# 5?C'g6%# 5*9N%# (U 5O93 7#200:H? 7#(l8

:%lR=........)4h 79O935h 79O93679O93 (
M -5?O(K%# F"'#'G +,- I)K %# !%1 234 9gC3"6? !"%# R'# 'G%# 5?:6 7/* #$1 .......

)5"C 90 8D" h I)K/% 8A" h IHJ/% =#=>" (
)V (B1_" )*& O<5: -234/% 5?/#̀ =%# 5*9 N/% \939?A: R'# 'G%# 54'= 'C"H" .

E -9K#>"# +90=G? d '#=A:%# !- 9:g?(93" 2a' 8HZ%# ='( 8HZ%# 9"(* .
)! (5O'3C b'G"" R'9?320 m/s9U'=* 5?)*9K" 5/4HC 76'G" 8:#'Z%# 2#=`"3# =KO(2 m/s2

$K: R'9?3%# 9gHNA" !"%# 5-93:%# T3G# b%$6( R'9 ?3%# I*("% 2>< %# +:>%# T3G#
I*("" !"G 8:#'Z %# 2#=`"3# .

@óãbrÛa@Þaû3ÛaZ )  (B1* 08M':
  -FHJ( 5*9N L: \9?3;' b'G "? 234% 5?6?K 96?:%# 5*9N%# P(93"".
E -F"NK^: 2W#= %# B?N9K^:%# =AZ?.
M -5/4O F% +(6?( 5"C90 5O'3C 234%# b'G"?.

)V (! )E& $%( BE=E 'M)*: -5:D"K: 5/4HC b'G "" R'9?3–3 m/s 2.
E -=?/4%# '9g)Kd 5K:96%# R'# 'G%#3.34×105  J/Kg

) !(+9"/"6(Y , X)#$,- 5?'#'G %# 5*9N %# +: +?"?(9 3": +?"?:6 9"C3"6# +?" Z/"`: +?"=9: +:
9:g?"/"6 +?C 5C3K%# 7K961 : 2+?"?O(K%# 9:g?" '#'G +?C 5C3K%#(1 : 2h T?" '"%# !/O

] +?"/"6%# +?" 9U R'#'G 54'= !- Y9Z"'d# P'#=A: +?C 5C3K%# +(6" 26-
@sÛbrÛa@Þaû3ÛaZ )  (' m<]-*&' V18'+"1g' 7'0 )(= &' B<5 O'4&' B*<=&:

  -5?W9?> ?Z%# 79?:6%# '?=9A: !/O 8d="3d#( 5H?CN%# L: 8:9H"/% R=?G(%# !W9?>?Z%# 5/?3(
E -8?: 5?(#>C !/OX I$* 234 F6/3? P$%# '93:%#.

M -9U'#=A: 5/"6 8AK% 8($C:%# !/6%# 8^_%#1 Kg+?"NAK +?C.
Q --'H: 9g"-'H:% 2>/? 5?:69gU94"#( 9U#'=A: 5h

)V (I421#1 I"? 08M'$ J4,'$ +5$*.*8 )6(18'$ !"1<K)*1* !"14,$ O8 012' +"&)1&' 7'4,$&' !*:
)2(%(6/+"(?K h 7%(-.8(4 h 5?K90/246 h 7#( h +"(?K h ... 2–E246 h =#'9- h.. 2–  (

) !(F"/"6 23410 Kg9U'N* I)K R'W#= N?G: 8(G b'G"?5 m9U'#=A: 5?>6': 5/4HC
20 m/s 2 .+: 86 =4(; :5?>6': %# 5C$94%# R(A%#( 5?N%̀# 5O'3%# .

@Éia‹Ûa@Þaû3ÛaZ )  (! 7(K'8C* 7C90 8D? 9:U#(3 +O +?%( >H: +?:34 56'G !"?:6 Y(: 4:
2=9)"%# =HC( .

)V (08M Q* +"& )1&' +"E)"(&' O)8aN' !5 J0( =*&' +"H)"0&' +Y^=&' V18'O"* &' G"$) #" )*:

) !(+: m"#(K%# 5/"6 7'?^" #$1 t('9) b'G: 5G"- +: 5?>9 ^%# m"#(K%# o('` 5O'3 TG3#
70000 Kg!%130000 Kg&'=* +:> !-10 s!NH" !"%# L-=%# R(* 7K96(

t('9 )/%8×107 N .
@=ßb©a@Þaû3ÛaZ )  (!* O8( 4$- %*&' )*:)8(4%# h 9: 29DK R'#'G 54'=. (

)V (B1_" )** O8 B<5 +(101*&' S9)1E &' )* :
  -56'G%# 5?:6 !- '?^"%# F?- .=9G%# +:>%# nAK .
E -N3(%# R'#'G 54'= L: R=9:%# R'#'G 54'= P(93".
M -!C'g6 894: !- 8)(: LJ( .

) !("3:%# 5?C'g6%# 5*9 N%# +?C 5*<H%# 53#'=% 5C'4" !-+?C =g4%# V'-( 8)(: !- R$ZK
5?%9" %# mW9" K%# !/O 9K/)G F?-'N :

W (J)  100 200 300 X 600 700 
V (v) 10 20 30 35 60 70 

5?C'g6%# 5*9N%# +?C 5?K9?C%# 5*<H%# 23'#(W)=g4%# V'-( !3;'%# '(G:%# !/O(V)!/O
=4(; 23'%# +:( !A-X# '(G:%# :  -5:?*(X) .E-8)(:%# !- R'9:%# 5?C'g6 %# 5?:6


